~ Key Concept and Vocabulary

000
o ese
to divide.
o Lh 000
@ a0 18+-3=6
L 000
[divided by] (equals] 000
000

N

(000000)
(000000)
(000000)

I like it.
18 is equal to
3 groups of 6.

PRACTICE makes PURR-FECT™

Draw the correct number of . Write the answer in

1.

0000
0000
0000

Write the problem in
3. 20 -~ 5 = 4 00000
00000
00000
00000

5. SHARING You have twenty quarters
to share equally with four people.
How many does each person get?

204 =5 quarters
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Check your answers at BigldeasMath.com.
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